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@ K & PR = 1 3 s | BRI | Eves (iEhs
1 P/ - %t PYEY Y RI—k 1 O - O | 8| 769%
2 e « A F—LK 6 - 2 - 1] 2 |5333%
3 Pz (w0) « X! =FETH-WBINTH [6 - 6 21 1 |8571%
@ K & PR = 1 3 s | BRI | Eves (iEhs
1 B « N0Ex FvOv b 1 3 - O | 8 |2500%
2 Bl « PRK )= 6 - 2 - 1] 2 |5333%
3 ik« )10 SAIVT D= |6 - 6 2 | 1 | 7059%
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1 iR « S U= 24I900 6 6 - 2| 1 |e667%
2 MBIR - 28 WAVE « D) — 2 - 4 - O | 38 |3333%
3 RS - [REB AT VY |4 - 6 1 | 2 | 5000%
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1 Bl - 380 HALR « TOP O 6 - 1 | 2 | 4000%
2 PH - ETIR )= 6 - 6 - 2| 1 |8571%
3 NIE(ED) - 365 21— 3 - 2 O | 8 |2041%
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1 BhE « AL 2D 5 6 - 1| 2 |5238%
2 £/ -8R l)— « BDRHK 6 - 6 - 2 | 1 | 5455%
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3 Bk (D) « RIT 2D 6 - 6 2 | 1 | 75.00%
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2 KRB - R )= O - 6 - 1 | 2 | 4000%
3 Do - 526 IWRY IR0V T |2 - 3 O | 8 |2941%
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21 NHRE) « NI LR 2 | 1 | 7059%

3 EFE - B J)—= O | 3 |3684%
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1 BER - 18T BGAEEE O | 8 |2941%

2 PuifE « kK BDFK « PILY F—U 2 1 1 |9231%

3 K& « K HALIR « XD« VD 1 | 2 | 3889%

@ K & P 5 s | NEh| mves |IE
1 GlE « I\FA PILN =L «Fv0vk 2 1 | 80.00%

2 INA « 33 o420 1| 2 | 4444%

3 BRI - )N 2D O | 8 |2941%
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1 =88 - Wi N.BP! O | 8 |3333%
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3 HE - FK J— 21 1 |6316%
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